SO GIAO DUC VA PAO TAO KY KHAO SAT TUYEN SINH LOP 6
THANH PHO HO CHi MINH TRUNG HQC PHO THONG CHUYEN TRAN PAI NGHIA
NAM HQC 2016 — 2017
BAI KHAO SAT: TRAC NGHIEM
Ngay khao sat: 20 thang 6 nam 2016
Thoi gian lam bai: 45 phit (khong ké thoi gian phat bai)
Mai bai 132

Question 1: Read the following fable and choose the most suitable title for it.

“Once upon a time, when two brothers are hunting in a jungle, they see a rabbit running around, eating grass.

The elder brother looks at the rabbit and says:

- Well, bake this rabbit and we’ll have a delicious dish!

- No, the younger brother replies, we should boil it instead!

The two brothers do not give in to each other. They finally decide to ask the first person they see for his opinion,
they will do whatever that person says. Then they meet a man, and the elder brother tells the man the story. The
man immediately says, “Boil half of the rabbit, and bake the other half. You will not be in disagreement with each
other any more.” The two brothers think it is a good idea, and they return to the jungle, but the rabbit has already
gone.

A. Jack of all trades is good for nothing.

B. Birds of the same feather flock together.

C. Grass is always greener on the other side of the hill.

D. Don’t count your chickens before they hatch.

Question 2: In the following

pictures, which picture is
different from the other three? ;
A. Picture 1.
B. Picture 2.
C. Picture 3.
D. Picture 4.

Picture 1 Picture 2 Picture 3 Picture 4

Question 3: In calculations, people can use ‘cat’, ‘cow’, ‘dog’, ‘chicken’ to replace 1,
certain numbers. For example, 1 cat = 24, 2 cats = 48 (the side picture). Examine 3 “ufeg
following calculations and tell how many ‘chickens’ are needed on the right-hand side
of the third calculation to give a correct result.

A. 5. B. 20. C. 15. D. 10.




Question 4: In the proverb “Hoc thay khéng tay hoc ban”, the word “tiy” means:

A. to lon. B. ngang bang. C. nho bé. D. nhanh chong.
Question 5: My class of 32 students are going to a Fun Fair for children and need to buy entrance tickets for each
student. The price of an entrance ticket is 5,000 dong. The good news is that when we buy 5 tickets, the Fun Fair
gives us 1 extra ticket for free. How much does my class have to pay to buy enough tickets for the whole class?

A. 140,000 dong. B. 125,000 dong. C. 135,000 dong. D. 130,000 dong.
Question 6: Minh’s family needs to tile the floor of a rectangular room, 5 m in length and 3.8 m in width, with
square tiles. The length of the side of each tile is 0.5 m. Each of the tiles close to the wall, if not a whole one, is cut
from a whole tile. The total number of tiles needed to tile the room is:

A. 80. B. 76. C. 70. D. 72.
Question 7: In May 2016, in a speech made in Vietnam, Barack Obama, President of the United States, mentioned
two verses in a poem considered to be one Declaration of Independence in our country’s history: “Séng niii nuoc
Nam vua Nam ¢ / Ranh ranh dinh phdn ¢ sach troi”. The poem resounded in a victorious battle defeating the
invaders, and was attached to which of the following renowned commander of our country?

A. Truong Dinh. B. Pham Ngii Lao. C. Tran Qudc Tuin. D. Ly Thudng Kiét.
Question 8: The inland of our country does NOT have border with which of the following countries?
A. China. B. Laos. C. Cambodia. D. Thailand.

Question 9: Khdng nguyén la mot loai phan tir nhé cé thé hién dién trong co thé. Trong mdu ciia co thé nguwoi cé
thé c6 hai logi khang nguyén: khang nguyén A va khdng nguyén B. Mdu trong co thé moi nguoi thudc mét trong
bén nhém co ban: nhém A chi cé khang nguyén A, nhém B chi cé khdng nguyén B, nhom AB ¢6 ca hai logi khang
nguyén A va B, nhém O khong cé loai khing nguyén nao. Khi dwoc truyén mdu, mot nguoi khong thé nhin dwoc
mdu thudc nhém mdu ma trong co thé nguoi nay khéng c6 khang nguyén ciia nhom mdu do.

Which of the following statements is true?

A. People with blood type O cannot receive blood from blood group A. '¢ T8 2&
B. People with blood type AB cannot receive blood from blood group O. q/”,. ...!
C. People with blood type A can receive blood from blood group B. ﬂ

D. People with blood type B can receive blood from blood group AB. : :

Question 10: “We know most of our energy comes from the ...(1).... We can show how the energy is passed from
one living thing to another in a food ...(2)....”
The appropriate words to fill in the blanks (1), (2) respectively (theo thu tu) are:

A. Sun, chain. B. Moon, system.
C. Sun, system. D. Moon, chain.
Question 11: How many triangles are there in the side picture?
A. 14. B. 17. C. 12. D. 15.

Question 12: Nudc ta hang nim déu phai ganh chiu nhiéu con bao tir bién Pong d6 vao. Khi co bio, gio thdi rat
manh va giy ra nhiéu thiét hai. Theo thang suc gi6é Beaufort, & Viét Nam hién nay bao dugc chia thanh 17 cép tuy
theo toc do gio, ¢o thé tinh bang cong thirc gin diing nhu sau: toc d6 gid (km/h) = 0,5 x cap bio x cap bio + 4 x cip bio.
Niam 2009, mét con bdo thdi vao Pa Ning dat dén cip 11. Quing dudng di trong mot phit cua gio trong con bio
nay co gia tri gan nhit v4i gia tri nao sau day?

A. 4 km. B. 3 km. C. 1 km. D. 2 km.
Question 13: Which of the following energy sources should we be encouraged to use?
A. Gas from underground. B. Coal.
C. Sunlight. D. Gasoline, oil from oil wells.
Question 14: Which of the following place names is NOT a place name in Ho Chi Minh city?
A. Tourist area Suoi Tien. B. Cu Chi Tunnels.
C. Tourist area Dai Nam. D. Thong Nhat Palace.
Question 15: Which of the following animals can the human body most easily take in protein from?
A. Pig. B. Fish. C. Cow. D. Chicken.

Question 16: Which of the following numbers is closest to the time of establishment and development of our
Saigon — Ho Chi Minh city?

A. 400 years. B. 300 years. C. 500 years. D. 600 years.
Question 17: Which of the following foods contains a lot of vegetable protein?
A. Sweet potatoes. B. Tomatoes. C. Soya. D. Cabbages.

Question 18: “Cables and wires need to be good electrical conductors (vét dan).
They are made of ...(1).... (often copper or aluminum).
For safety, wires are coated with material that does not conduct electricity.
Wires are coated with ...(2).... (often a kind of material called PVC).”
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The appropriate words to fill in the blanks (1), (2) respectively are:

A. wood, rubber. B. plastic, metal. C. metal, plastic. D. rubber, wood.
Question 19: Compared with the first six months of 2016, the last six months of 2016 have more
A. 3 days B. 2 days C. 1 day D. 4 days

Question 20: Read this fable and the question that follows. Choose the correct answer.

“C6 con qua tha dwgc mt miéng thit cii vé ngoi trén cdy ria an. Cii dang ddu trén cdy gan dé lién bao:

— Nay anh Qua oi, coi chimg miéng thit c6 dc, dn vao cé thé gap nguy ddy anh a!

Qua chdng nghe ma lai con la mdng:

— Anh muén chia phan thit ngon ciia t6i dday hit, chang doi nao!

Néi roi Qua bau ldy miéng thit, quay leng lai an tiép. Qua dn hét miéng thit, lién 6m bung dau ldn 1én.”

What lesson can we draw from the above fable?

A. Hiy giit liy nhing gi ta tim dugc, dung chia sé cho ai.

B. Khong tin vao nhitng diéu nghe dugc xung quanh ta.

C. Can suy xét can than, dimg da nghi quéa mifc.

D. Khong thay d6i hanh dong khi da quyét dinh lam mét viéc nao do.
Question 21: What is implied in the following proverb?

“Nuec cudi chdu chdu da xe,
Tuwong rang chiu ngd, ai dé xe nghiéng.”

A. The weak and small thought to be unable to can beat the powerful and big.

B. The weak always lose.

C. Someone does something without thinking about, or considering the consequence.

D. Doing something extremely difficult surely leads to failure.
Question 22: Lan tells us that the total number of Grade 5 students in her school is 131. She also tells us that the
number of students in each class is no less than 30 and no more than 35. What is the number of Grade 5 classes in
her school?

A. 4. B. 5. C.3. D. 6.
Question 23: A student cycles from home to school in a distance of 1,200 m with speed of 2.5 m/s. There are 4
crossroads on the way; the time to stop for red lights at each crossroad is 30 s the longest. The longest time it takes
the student to reach school is:

A. 12 minutes. B. 10 minutes. C. 8 minutes. D. 6 minutes.
Question 24: There are two cube cakes. The length of the side of the second cake is twice that of the first cake.
How many times as big is the volume of the second cake as that of the first cake?

A. 8 times. B. 4 times. C. 2 times. D. 6 times.
Question 25: “When a(n) ...(1)... burns, heat and ...(2)... are released. Heat and ...(2)... are examples of ...(3)... .
Another kind of ...(3)... is ...(4)...”

The appropriate words to fill in the blanks (1), (2), (3), (4) respectively are:

i

A. electricity, fuel, light, energy. B. fuel, light, energy, electricity.

C. light, energy, electricity, fuel. D. energy, electricity, fuel, light.
Question 26: Which island (or islands) do(es) NOT belong to our country?

A. The Hoang Sa islands. B. Hai Nam island.

C. Con Dao island. D. The Truong Sa islands.

Question 27: Read the information and choose the correct answer.

Thong tin trén bdo Thanh Nién ngay 05 thang 5 nam 2016: c6 gadi
Alfini Lestari dd dang tay chan mét doan xe mdy chay lan 1én via hé
danh cho nguoi di by ¢ thu dé Jakarta, Indonesia. Alfini Lestari noi.:
“Té6i néi véi ho rang ho phdi biét xdu hé. Ho c¢é dwong di riéng
nhung van sir dung via he. Téi n6i véi ho hdy di xuéng khoi via hé va
néu ho khéng xuong, téi van dirng chan... Téi ciing néi voi ho rang
néu ho muén ddanh téi, t6i ciing khong so'”.

What the girl did suggests which quality needed of a citizen in the
society?

A. Desire to become a famous person.

B. Fearlessness, stubbornness in performing an action in the society.

C. Action to show the role of a hero in the society.

D. Bravery to fight against wrongdoings in the society.
Question 28: Strawberries, apples and oranges are put on two balanced scales as in the 2 pictures a and b. How
many strawberries should be put on the right scale of picture c to maintain a balanced scale?
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Picture a Picture b Picture ¢
Question 29: Read the story Con Réng Chau Tién and choose the correct answer to the following question:

“Ngay xua ngay xua, & mién ddt Lac Viét cé mét vi than tén la Lac Long Qudn, con ¢ ving nili cao ¢é nang Au
Co xinh dep tuyét tran. Hai nguoi gdp nhau, két thanh vo chong. Au Co sinh ra mét cdi boc tram trimg, tram trimg
né ra mét tram nguoi con dep dé, hong hao. Mot tram nguoi con ciia Lac Long Qudn va Au Co sau ndy tré thanh
16 tién ciia ngueoi Viét Nam ta. Ciing boi sie tich nay ma nguweoi Viét Nam thuong tu hao xung la con Rong chau Tién
va than mdt goi nhau la déng bao.” (Theo sach Tiéng Viét 5, tap 1, trang 27)

The word “ddng” in the phrase “ddng bao” in the story is NOT synonymous to the word “déng” in which of the
following phrases?

A. dong huong. B. dong chi. C. dong bang. D. dong loai.

Question 30: There are two gardens, one in the shape of a rectangle, the other in the shape of a square. The two
gardens have the same perimeter (chu vi). Which of the following statements about the two gardens is true?

A. The square garden has a larger area than the rectangular garden.

B. The rectangular garden has a larger area than the square garden.

C. The two gardens have the same area.

D. It is impossible for two gardens of different shapes to have the same perimeter.

THE END



SO GIAO DUC VA PAO TAO KY KHAO SAT TUYEN SINH LOP 6
THANH PHO HO CHI MINH TRUNG HQC PHO THONG CHUYEN TRAN PAI NGHIA
NAM HQC 2016 — 2017
BAI KHAO SAT: TU LUAN
Ngay khao sat: 20 thang 6 nam 2016
Thoi gian 1am bai: 45 pht (khong ké thoi gian phdt bai)

Question 1. Read and answer the following questions.
Picture 1 shows the traffic sign setting the maximum speed limit (according to the unit of kilometer/hour,
also written km/h) of different kinds of vehicle travelling in a street of Ho Chi Minh city.

t

1
1
[ ]
|
1
1
L}
1
1 XE 2 Wb 3 RARM
1
1
1
1
1
1

D

Picture 1

a) According to this sign, the maximum speed limit of a vehicle is: .................cooiile. (km/h).
b) Picture 2 shows the speedometer of a motorbike travelling in the street.

The speed at which the motorbike is running is: L (km/h).
Is this motorbike violating the traffic regulation set in Picture 1?7 ...,

Question 2. Read and answer the following questions.

If we eat a lot and exercise a little, we may become overweight, obese and possibly ill.

We can check this by using an indicator known as BMI based on the weight (using kilogram) and the
height (using meter) of our body:

BMI = weight : (height x height)

With a student at 11 of age, a normal BMI is about 17. A BMI over 19.5 is considered overweight, over 22
obese, under 15.5 underweight, and under 14 undernourished.

a) A student at 11 of age with the height of 1.5 m and weight of 45 kg has a BMI of:

Question 3. Fill in the squares with the appropriate words in Picture 3 (write inseparably, in capitalization, with no
punctuation):
- Horizontal line:

1) Tén ciia mot dong song ma hon ngan nim trudc, véi cac coc nhon cim & long song, cha ong ta da ba lan
chon vui nhiéu chién thuyén ctia quan phuong Bac sang xam lugc nudc ta.

2) Mot loai dong vat hoang da c6 sung dang bi de doa tuyét chung. Chung thuong bi sin bét trom vi mot
quan niém sai lam cho rang sung ctuia ching c6 thé chita dugc nhicu loai bénh. Nhicu t6 chuc ¢ Viét Nam va trén
theé gioi dang kéu goi khong tiéu thu va sir dung strng cta loai dong vat nay. Loai dong vat nay co tén goi bang
tiéng Viét Nam la gi?



3) Hang Son Poong, vira dugc phat

hién gﬁn day tai Viét Nam, la mot trong s6 1)

c4c hang dong thién nhién dep va 16n nhit
trén thé gidi. Hang dong nay thudc dia phan

clia mot tinh ven bién mién Trung. Tinh nay 3)

cling chinh 1a qué huong ctia Pai tudéng Vo
Nguyén Giap. D6 1a tinh nao? 4)

4) Vi vua nuéc Au Lac (mot tén goi
trudc day cia nuodc ta), nguoi dd cho xay
thanh C6 Loa va sir dung “nd than” trong cudc
chién chdng gidc ngoai xAm phuong Bic, c6 danh xung 1a gi?

- Vertical line (darkened): name in English of a body organ.

Picture 3

Question 4. Following is a poem in the Khan Quang Po, in which some words are missing (left out):

BIEN
Pap chén vao song trang

Thdy chén van trong tranh
Ngup ddu vao ...(1)... man
Day mot mau trong xanh

Chadn chay dai bo cat
Cat trang nhir ...(2)... troi
Bién ru 101 gi6 cdt

Cong canh buom tring khoi

Mot mia ...(3)... nang lira
Theo budc chin em vé
Phé rop canh ...(4)... do
Séng vé dai tiéng ve

Write, in the following spaces, the appropriate Vietnamese words in the blanks (1), (2), (3), (4) of the

above poem.
() - () ()
Question 5.
Following is an English saying in which the letters are jumbled.
TREETB EATL ANTH REENV

A

The Vietnamese sentence having similar meaning to the above English saying is:

DU TRE VAN CON HON LA KHONG.
The above English saying written correctly is:

Question 6. Read and do as directed:

In the side box, there are names (in English) of five animals we
often see in everyday life. Each name is put in a certain vertical or
horizontal line. Example:

DOG — from square 3d to square 3f.
Names of the other four animals are:

............................ , from square ......... to square ..........
............................ , from square ......... to square ..........
............................ , from square ......... tosquare ..........
............................ , from square ......... to square ..........

Question 7. Read the newspaper extract, and do the request that follows:
Thong tin trén bao Tubi Tré ngay 24/4/2016:
“Doanh nhén 11 tudi
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a b c¢c d e f g h
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_ Céu chuyén kinh doanh cua c¢6 bé Mikaila Ulmer (nu6c My, hinh 4)
da bat dau tir cach day 7 nam. Khi d6 Mikaila méi 4 tudi va gia dinh
khuyén khich em lam mdt san pham tham gia cudc thi kinh doanh danh cho

tré em (co tén 1a Acton Children’s Business Fair).

Cb bé suy nghi v& mot s6 y tuong va chot nhd toi hai sy viée timg

xay ra. Viéc Mikaila tirng bi ong dot va viéc nguoi ba cua ¢6 ¢o gui cho gia




dinh Mikaila mot cudn sach day niu an, trong d6 c6 cong thirc pha ché mot loai nudce chanh dic biét.

Sau vai 1an bi ong chich, cd beé bét dau quan tAm tdi loai vat ndy. C6 bé tim hiéu vé tac dung ctia loai ong véi
con ngudi va v6i hé sinh thai rdi tré nén yéu quy ching lac nao khong hay. Thé 1a moén nude chanh BeeSweet
Lemonade ra doi ma theo Mikaila 1a san pham két hop ctia cong thirc nudce chanh voi tinh yéu danh cho loai ong.
Mikaila d3 ding mat ong dé 1am ngot cho nuéc chanh va bd sung thém bac ha tuoi dé 1am nén moén dd ubng dic
biét cd nguon goc thuan tay tr ty nhién.

Co6 bé da danh 20% loi nhuan thu dugc tir san phém nude chanh BeeSweet Lemonade dé ung ho cac td chirc
trong nudc va quoc te ¢6 nhitng du an bao v¢ loai ong. Do cling 1a ly do khién c6 bé ludn chao moi san pham nude
chanh ciia minh bang cau khau hi¢u: “Mua mét chai... ciru mot con ong”.

Nim nay Mikaila 11 tu6i nhung nuéc chanh cia c¢b bé da duge ban tai nhiéu cira hang va cong ty phan phbi
thuc pham c6 ngudn goc tu nhién trén toan nudec My.”

Write, in English (about 20 to 25 words), the lesson you draw from the above story.

Question 8. Read and do the following request.

Thong tin trén bao chi cho biét:

Nam 2015, san lu(_)‘ng lﬁa’cﬁa Viét Nam khoang 45 tri€u tan. Viét Nam cung voi An D6 va Thai Lan 1a ba
nudc xuat khau gao ding dau thé gidi.

Tuy nhién,, do san xuit & Viét Nam con lgc hau nén that thoat lua gao sau thu hoach 1én dén khoang 10%.
Trong khi d6, that thoat lia gao sau thu hoach & An D§ chi vao khoang 6%.

Néu trang bi nhidu may moéc cho san xuét, ta c6 thé giam dugc lugng lta that thoat sau thu hoach.

~ Cho rang 1 tén lta c6 thé cung cip gao cho 5 ngudi an trong ca nam. Néu that thoat Ita & nudc ta giam tir 10%
xuong con 6%, lugng lta c¢6 duoc tir viée giam that thoat d6 co thé cung cap gao cho bao nhi€u nguoi an trong mot nam?
(Students must write the calculations and the results only.)

Result: ..o nguoi.

Question 9. Read and do the following request.

Mot hoc sinh dugc tang mot phiéu mua hang ciia mét siéu thi ¢ gan nha. Tri gia cua phiéu mua hang nay 1a
100000 dong. Phiéu mua hang khong dugc doi thanh tién va khong hoan tra lai tién du sau khi mua sam. Cac mat
hang cua siéu thi trong thoi gian nay ma hoc sinh thich 1a: 1/ Bot cacao (hop 285 g): 38000 dong; 2/ Bot cacao sira
(bich 30 goi): 59800 dong; 3/ Stra chua (16¢ 4 hi): 19200 dong; 4/ Sta tuoi tiét trung (16c 4 hop): 20300 dong;
5/ Nude cam ép (hop 1 L): 32500 dong.

Dé sb tién mua hang thap hon nhung gﬁn nhat véi tri gia cua phiéu mua hang, hoc sinh nay can chon mua
nhiing mét hang nao (mo6i mat hang chi chon t6i da mdt san pham)?

(Students must write the results only.)

....................................................................................... 17 11
--------------------------------------------------------------------------------------- 2 14 15
. . : . . 0 12 | 18
Question 10. The side box consists of 25 squares containing different numbers
from 0 to 24. Fill in the other squares with numbers to ensure that the total sum of 1 1
each line, column, and the two diagonal lines is 60. 0 6 3
1 7
THE END
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BAI KHAO SAT TRAC NGHIEM (60d, mdi cau 2d)

Ma bai 132
1.D 2.A
6. A 7.D
11.D 12.D
16. B 17.C
21. A 22. A
26.B 27.D

Ma bai 485
1.C 2.A
6.B 7.B
11.D 12.C
16. A 17.D
21.C 22. A
26.B 27.C

BAI KHAO SAT TU LUAN (404)
Céu 1: (4 diém)
a) 50
b) 40
No
Ciu 2: (4 diém)
a) 20
Overweight
b) 38.25 kg (hoac: 38 kg, 38.5 kg)
(hodc: tir 34,5 kg dén 44 kg)
Ciu 3: (4 diém)
1) BACHDANG
2) TEGIAC
3) QUANGBINH
4) ANDUONGVUONG

3.D 4.B
8.D 9. A
13.C 14.C
18.C 19.B
23.B 24. A
28. A 29.C
3.D 4.D
8.C 9.B
13.D 14. A
18. A 19.C
23.D 24. A
28.D 29.D

TRUNG HQC PHO THONG CHUYEN TRAN DAI NGHIA

5.C

10. A
15.B
20.C
25.B
30. A

5.B

10.C
15. A
20.B
25.D
30.B

(1d)
(1,5d)
(1,5d)

(1,5d)
(1d)
(1,5d)

(1d)
(1d)
(1d)
(1d)



Ciu 4: (4 diém)

(1): bién (Bién, nudc: 0,5d)

(2): may (May, bau, chan: 0,5d)

(3): hé (H¢, ha: 0,5d)

(4): phuong (Phugng, hoa: 0,5d)
Ciu 5: (4 diém)

BETTER LATE THAN NEVER (dung thir ty)
CAu 6: (4 diém)

BIRD, from square 4d to square 7d.
CAT, from square Se to square 7e.
HORSE, from square 1g to square 5g.
CHICKEN, from square 5b to square Sh.
(hoac CHICK from square S5b to square 5f)

Ciu 7: (4 diém)

Pung ndi dung yéu cau

(N6i dung khong sat trong tim hodc sd tir ¢6 chénh léch vé6i yéu cau: 1d)

Pung tr vung, ngit phap:
(Mbi sai sot vé tir vung, ngit phap: -0,5d, trir t6i da 2

Ciu 8: (4 diém)

10% - 6% = 4%.

45 trigu tan x 4% = 1,8 triéu tan.

1,8 triéu x 5 =9 triéu.

Result: 9 tri¢u nguoi.
Ciu 9: (4 diém)

2/ Bot cacao sita, 3/ sita chua, 4/ sita tuoi tiét trung.
Céu 10: (4 diém)

d)

5 23 4
21 8
6 24
9 22
13 19 | 20
0,25dx8 0,5dx4

(lam tron tang: 0,254 — 0,5d; 1,258 — 1,54
0,75¢ — 14d; 1,758 — 24)

(1d)
(1d)
(1d)
(1d)

(1dx4)

(1d)
(1d)
(1d)
(1d)

d)

d)

(1d)

(1d)

(1d)
(1d)



